BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS JUNE 26, 2025 LJA ENGINEERING, INC.

S.BOOTH JUNE 26, 2025 NT600-0003D

BIDDER NAME	BASE BID	PROPOSED DURATION (DAYS)	CONTRACTOR'S SCHEDULE
1) GM CONSTRUCTION TX	\$4,095,243.25	70 \ 45	12/1/2025
2) RPM XCONSTRUCTION	\$4,109,397.85	80 \ 40	8/1/2025
3) PAVECON PUBLIC WORKS	\$4,211,598.86	60 \ 15	NOT PROVIDED
4) CHRIS HARP CONSTRUCTION	\$4,236,548.40	90 \ 45	1/1/2026
5) GTI	\$4,246,133.60	90 \ 30	3/2/2026
6) MARIO SINACOLA & SONS EXCAVATING, INC.	\$4,345,466.40	65 \ 25	8/1/2025
7) HARPER BROTHER CONSTRUCTION	\$4,352,946.15	80 \ 15	NOT PROVIDED
8) TISEO PAVING	\$4,516,596.95	120\30	11/3/2025

Edgar Saucedo



Edgar Saucedo

I, Edgar Saucedo, P.E., hereby certify these bid tabulations to be true and correct.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE 5

KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS JUNE 26, 2025 LIA ENGINEERING, INC. S.BOOTH JUNE 26, 2025

NT600-0003D

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			1) GM CONSTRUCTION TX		2) RPM XCON	2) RPM XCONSTRUCTION		3) PAVECON PUBLIC WORKS		4) CHRIS HARP CONSTRUCTION	
								•			
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	
BASE BID SECTION A - RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS 1. 6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND	SY	45609	\$42.25	\$1,926,980.25	\$44.00	\$2,006,796.00	\$44.60	\$2,034,161.40	\$43.90	\$2,002,235.10	
GUTTER	31	43003	Ş42.23	\$1,520,560.25	Ş44.00	\$2,000,750.00	344.00	32,034,101.40	Ş43.30	\$2,002,233.10	
2. 6" LIME STABILIZED SUBGRADE	SY	48665	\$4.25	\$206,826.25	\$3.50	\$170,327.50	\$3.48	\$169,354.20	\$2.95	\$143,561.75	
3. HYDRATED LIME (45 #/SY)	TON	1095	\$312.00	\$341,640.00	\$305.00	\$333,975.00	\$338.68	\$370,854.60	\$315.00	\$344,925.00	
4. PERMANENT TYPE III BARRICADE	EA	4	\$2,955.00	\$11,820.00	\$2,100.00	\$8,400.00	\$2,862.76	\$11,451.04	\$1,600.00	\$6,400.00	
5. TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	71	\$2,115.00	\$150,165.00	\$2,250.00	\$159,750.00	\$2,565.88	\$182,177.48	\$2,850.00	\$202,350.00	
6. TXDOT TYPE 3 COMBINATION PEDESTRIAN CURB RAMP	EA	3	\$2,415.00	\$7,245.00	\$2,250.00	\$6,750.00	\$2,076.87	\$6,230.61	\$2,900.00	\$8,700.00	
7. 5' SIDEWALK	SF	12587	\$7.05	\$88,738.35	\$6.50	\$81,815.50	\$6.71	\$84,458.77	\$7.10	\$89,367.70	
8. SAWCUT AND CONNECT TO EXISTING ROAD (FM 741)	LF	106	\$43.00	\$4,558.00	\$65.00	\$6,890.00	\$5.52	\$585.12	\$25.00	\$2,650.00	
SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	1	\$32,200.00	\$32,200.00	\$14,500.00	\$14,500.00	\$27,265.15	\$27,265.15	\$30,100.00	\$30,100.00	
SUBTOTAL BASE BID SECTION A - RESIDENTIAL INFRASTRUCTURE PAVING IMPROV	EMENTS			\$2,770,172.85		\$2,789,204.00		\$2,886,538.37		\$2,830,289.55	
BASE BID SECTION B - MASTER INFRASTRUCTURE PAVING IMPROVEMENTS											
6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND GUTTER	SY	9115	\$42.25	\$385,108.75	\$44.00	\$401,060.00	\$44.60	\$406,529.00	\$47.40	\$432,051.00	
2. 6" LIME STABILIZED SUBGRADE	SY	9589	\$4.25	\$40,753.25	\$3.50	\$33,561.50	\$3.48	\$33,369.72	\$2.95	\$28,287.55	
3. HYDRATED LIME (45 #/SY)	TON	216	\$312.00	\$67,392.00	\$305.00	\$65,880.00	\$338.68	\$73,154.88	\$315.00	\$68,040.00	
4. TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	15	\$2,115.00	\$31,725.00	\$2,250.00	\$33,750.00	\$2,565.88	\$38,488.20	\$2,850.00	\$42,750.00	
5. TXDOT TYPE 3 COMBINATION PEDESTRIAN CURB RAMP	EA	3	\$2,415.00	\$7,245.00	\$2,250.00	\$6,750.00	\$2,076.87	\$6,230.61	\$2,900.00	\$8,700.00	
6. PERMANENT TYPE III BARRICADE	EA	3	\$2,955.00	\$8,865.00	\$2,100.00	\$6,300.00	\$2,454.58	\$7,363.74	\$1,880.00	\$5,640.00	
7. 5' SIDEWALK	SF	9711	\$7.05	\$68,462.55	\$6.50	\$63,121.50	\$6.71	\$65,160.81	\$7.10	\$68,948.10	
8. 6' SIDEWALK	SF	7524	\$7.05	\$53,044.20	\$6.50	\$48,906.00	\$6.69	\$50,335.56	\$7.10	\$53,420.40	
9. 8' TRAIL	SF	21644	\$8.50	\$183,974.00	\$7.40	\$160,165.60	\$7.89	\$170,771.16	\$8.65	\$187,220.60	
10. SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	1	\$4,600.00	\$4,600.00	\$14,500.00	\$14,500.00	\$1,467.23	\$1,467.23	\$4,300.00	\$4,300.00	
11. CROSSWALK STRIPING (PM(4)-20) AND SIGNAGE SUBTOTAL BASE BID SECTION B - MASTER INFRASTRUCTURE PAVING IMPROVEME	LS	1	\$4,300.00	\$4,300.00 \$855,469.75	\$4,200.00	\$4,200.00 \$838,194.60	\$2,228.43	\$2,228.43 \$855,099.34	\$4,050.00	\$4,050.00 \$903,407.65	
BASE BID SECTION C - SUNRISE BLVD INFRASTRUCTURE PAVING IMPROVEMENTS				¥335,163113		¥335,25 1100		4000,035.0 .		\$333,187.183	
8" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND GUTTER	SY	4628	\$57.95	\$268,192.60	\$59.00	\$273,052.00	\$60.52	\$280,086.56	\$63.15	\$292,258.20	
2. 8" LIME STABILIZED SUBGRADE	SY	5001	\$4.25	\$21,254.25	\$3.50	\$17,503.50	\$4.38	\$21,904.38	\$3.20	\$16,003.20	
3. HYDRATED LIME (53 #/SY)	TON	133	\$312.00	\$41,496.00	\$305.00	\$40,565.00	\$338.68	\$45,044.44	\$315.00	\$41,895.00	
4. TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	4	\$2,115.00	\$8,460.00	\$2,250.00	\$9,000.00	\$2,565.88	\$10,263.52	\$2,850.00	\$11,400.00	
5. CONCRETE STREET HEADER	LF	26	\$15.00	\$390.00	\$35.00	\$910.00	\$21.58	\$561.08	\$500.00	\$13,000.00	
6. PERMANENT TYPE III BARRICADE	EA	1	\$2,955.00	\$2,955.00	\$2,100.00	\$2,100.00	\$3,304.03	\$3,304.03	\$1,600.00	\$1,600.00	
7. 5' SIDEWALK	SF	6438	\$7.05	\$45,387.90	\$6.50	\$41,847.00	\$6.71	\$43,198.98	\$7.10	\$45,709.80	
8. SAWCUT AND CONNECT TO EXISTING ROAD (FM 741)		150	\$43.00	\$6,450.00	\$55.00	\$8,250.00	\$30.19	\$4,528.50	\$25.00 \$25.00	\$3,750.00	
SAWCUT AND CONNECT TO EXISTING ROAD (SUNRISE BLVD) SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	370 1	\$16.50 \$4,700.00	\$6,105.00 \$4,700.00	\$30.00 \$2,600.00	\$11,100.00 \$2,600.00	\$4.82 \$2,101.56	\$1,783.40 \$2,101.56	\$25.00 \$4,400.00	\$9,250.00 \$4,400.00	
11. REMOVE EXISTING DOUBLE YELLOW STRIPING & RPMS	LF	1150	\$3.20	\$3,680.00	\$2.15	\$2,472.50	\$1.21	¢1 201 E0	\$3.00	¢2.4E0.00	
11. REMOVE EXISTING DOUBLE FELLOW STRIPING & RPMS 12. 4" BROKEN WHITE STRIPING (PM(1)-20)	LF	2300	\$3.20 \$1.90	\$4,370.00	\$2.15 \$1.60	\$3,680.00	\$2.76	\$1,391.50 \$6,348.00	\$1.80	\$3,450.00 \$4,140.00	
13. 4" BROKEN WHITE STRIPING (PM(3)-20)	LF	105	\$1.90	\$199.50	\$2.15	\$225.75	\$2.76	\$289.80	\$1.80	\$189.00	
14. 8" SOLID WHITE STRIPING (PM(3)-20)	LF	98	\$4.80	\$470.40	\$3.25	\$318.50	\$4.96	\$486.08	\$4.50	\$441.00	
15. 8" DOTTED WHITE STRIPING (PM(3)-20)	LF	100	\$3.90	\$390.00	\$3.75	\$375.00	\$4.96	\$496.00	\$3.65	\$365.00	
16. TRAFFIC CONTROL	LS	1	\$4,900.00	\$4,900.00	\$15,000.00	\$15,000.00	\$5,515.92	\$5,515.92	\$12,000.00	\$12,000.00	
SUBTOTAL BASE BID SECTION C - SUNRISE BLVD INFRASTRUCTURE PAVING IMPRO	VEMENTS		_	\$419,400.65	_	\$428,999.25		\$427,303.75	_	\$459,851.20	
DACE DID SECTION D. MISSELLANGOUS ITEMS											
BASE BID SECTION D - MISCELLANEOUS ITEMS 1. PERFORMANCE & PAYMENT BOND - 100%	LS	1	\$39,000.00	\$39,000.00	\$45,000.00	\$45,000,00	\$33,095.47	\$33,095.47	\$38,700.00	\$38,700.00	
2. MAINTENANCE & PAYMENT BOND - 100%	LS	1	\$39,000.00	\$11,200.00	\$45,000.00	\$45,000.00 \$8,000.00	\$33,095.47 \$9,561.93	\$33,095.47	\$38,700.00	\$38,700.00	
SUBTOTAL BASE BID SECTION D - MISCELLANEOUS ITEMS	LJ	1	J11,200.00	\$11,200.00		\$53,000.00	72,301.33	\$9,561.95	پ4,500.00 <u> </u>	\$43.000.00 \$43.000.00	
JODIOTAL DAJE DID JECTION D - WIJCELLANEOUS HEIVIS				330,200.00		333,000.00		344,037.40		343,000180 -13	

LJA Engineering, Inc.

BID TABULATION FOR:

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE 5

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS JUNE 26, 2025 LIA ENGINEERING, INC. S.BOOTH JUNE 26, 2025 NT600-0003D

				1) GM CONSTRUCTION TX		2) RPM XCONSTRUCTION		3) PAVECON PUBLIC WORKS		4) CHRIS HARP CONSTRUCTION	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNA	TE I ITEMS ALTERNATE I ITEMS										
1. 8	B' CURLEX (PHASE 5 RESIDENTIAL PAVING)	LF	27513	\$1.22	\$33,565.86	\$1.50	\$41,269.50	\$1.27	\$34,941.51	\$1.35	\$37,142.55
	B' CURLEX (PHASE 5 MASTER PAVING)	LF	4127	\$1.22	\$5,034.94	\$1.50	\$6,190.50	\$1.27	\$5,241.29	\$1.35	\$5,571.45
	B' CURLEX (PHASE 5 SUNRISE BLVD PAVING)	LF	2730	\$1.22	\$3,330.60	\$1.50_	\$4,095.00	\$1.27	\$3,467.10	\$1.35	\$3,685.50
SUBTOTA	L ALTERNATE I ITEMS ALTERNATE I ITEMS				\$41,931.40		\$51,555.00		\$43,649.90		\$46,399.50
ALTERNA	TE II ITEMS ALTERNATE II ITEMS										
	PAVEMENT REPAIR: SAWCUT, REMOVE AND REPLACE EXISTING 8" PAVEMENT AT SUNRISE BLVD (HAUL ROUTE CROSSING)	SY	160	\$140.00	\$22,400.00	\$120.00	\$19,200.00	\$141.70	\$22,672.00	\$175.00	\$28,000.00
2. F	PAVEMENT AT SUNKISE BLVD (INDUR KOUTE CRUSSING) PAVEMENT REPAIR: SAWCUT, REMOVE AND REPLACE EXISTING 6" PAVEMENT AT CHESTNUT ORCHARD ROAD (HAUL ROUTE CROSSING)	SY	222	\$120.00	\$26,640.00	\$100.00	\$22,200.00	\$117.80	\$26,151.60	\$175.00	\$38,850.00
3. 9	SAWCUT, REMOVE AND REPLACE EXISTING 5' SIDWALK AT SUNRISE BLVD (HAUL ROUTE CROSSING)	LF	40	\$93.00	\$3,720.00	\$70.00	\$2,800.00	\$69.66	\$2,786.40	\$75.00	\$3,000.00
	SAWCUT, REMOVE AND REPLACE EXISTING 5' SIDWALK AT CHESTNUT DRCHARD ROAD (HAUL ROUTE CROSSING)	LF	80	\$93.00	\$7,440.00	\$70.00	\$5,600.00	\$69.63	\$5,570.40	\$75.00	\$6,000.00
	L ALTERNATE II ITEMS ALTERNATE II ITEMS			_	\$60,200.00		\$49,800.00	_	\$57,180.40	_	\$75,850.00
	TE III ITEMS ALTERNATE III ITEMS										
	TRAIL LOW-WATER CROSSING (REFER TO THE DRAINAGE DETAILS) L ALTERNATE III ITEMS ALTERNATE III ITEMS	EA	2	\$2,800.00	\$5,600.00 \$5,600.00	\$15,000.00	\$30,000.00 \$30,000.00	\$2,274.61	\$4,549.22 \$4,549.22	\$8,500.00	\$17,000.00 \$17,000.00
BID SUM	WARY						. ,				
	SECTION A - RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS				\$2,770,172.85	•	\$2,789,204.00		\$2,886,538.37		\$2,830,289.55
BASE BID S	SECTION B - MASTER INFRASTRUCTURE PAVING IMPROVEMENTS				\$855,469.75		\$838,194.60		\$855,099.34		\$903,407.65
BASE BID S	SECTION C - SUNRISE BLVD INFRASTRUCTURE PAVING IMPROVEMENTS				\$419,400.65		\$428,999.25		\$427,303.75		\$459,851.20
BASE BID	SECTION D - MISCELLANEOUS ITEMS				\$50,200.00		\$53,000.00		\$42,657.40		\$43,000.00
TOTAL AN	MOUNT BASE BID				\$4,095,243.25		\$4,109,397.85		\$4,211,598.86		\$4,236,548.40
ALTERNA	TE ITEMS				-						
ALTERNAT					\$41,931.40		\$51,555.00		\$43,649.90		\$46,399.50
ALTERNAT				. Y	\$60,200.00		\$49,800.00		\$57,180.40		\$75,850.00
ALTERNAT	TE III ITEMS				\$5,600.00		\$30,000.00		\$4,549.22		\$17,000.00

KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS JUNE 26, 2025 LIA ENGINEERING, INC. S.BOOTH JUNE 26, 2025

NT600-0003D

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

			5) GTI 6		6) MARIO SINACOLA & SONS EXCAVATING, INC.		7) HARPER BROTHER CONSTRUCTION		8) TISEO PAVING	
					ll ll	VC.				
NO. ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ASE BID SECTION A - RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS 1. 6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND	SY	45609	\$44.95	\$2,050,124.55	\$47.00	\$2,143,623.00	\$48.00	\$2,189,232.00	\$47.05	\$2,145,903.45
GUTTER	٥.	.5005	Ų.1.33	Q2,030,12 1133	Ų 17.00	QZ/2 15/625.00	\$10.00	ŲL,103,L3L.00	Ų 17.03	ψ <u>2,113,303.13</u>
2. 6" LIME STABILIZED SUBGRADE	SY	48665	\$3.45	\$167,894.25	\$3.80	\$184,927.00	\$3.10	\$150,861.50	\$4.35	\$211,692.75
3. HYDRATED LIME (45 #/SY)	TON	1095	\$321.00	\$351,495.00	\$295.00	\$323,025.00	\$315.00	\$344,925.00	\$358.00	\$392,010.00
4. PERMANENT TYPE III BARRICADE	EA	4	\$1,655.00	\$6,620.00	\$1,500.00	\$6,000.00	\$1,820.00	\$7,280.00	\$2,854.50	\$11,418.00
5. TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	71	\$2,500.00	\$177,500.00	\$3,100.00	\$220,100.00	\$2,700.00	\$191,700.00	\$2,640.00	\$187,440.00
6. TXDOT TYPE 3 COMBINATION PEDESTRIAN CURB RAMP	EA	3	\$2,500.00	\$7,500.00	\$3,100.00	\$9,300.00	\$2,700.00	\$8,100.00	\$2,860.00	\$8,580.00
7. 5' SIDEWALK	SF	12587	\$6.85	\$86,220.95	\$6.50	\$81,815.50	\$6.15	\$77,410.05	\$7.55	\$95,031.85
8. SAWCUT AND CONNECT TO EXISTING ROAD (FM 741)	LF	106	\$35.00	\$3,710.00	\$35.00	\$3,710.00	\$55.25	\$5,856.50	\$50.00	\$5,300.00
SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	1	\$31,500.00	\$31,500.00	\$13,400.00	\$13,400.00	\$13,400.00	\$13,400.00	\$28,121.50	\$28,121.50
UBTOTAL BASE BID SECTION A - RESIDENTIAL INFRASTRUCTURE PAVING IMPRO	VEMENTS		_	\$2,882,564.75	1/	\$2,985,900.50		\$2,988,765.05		\$3,085,497.55
ASE BID SECTION B - MASTER INFRASTRUCTURE PAVING IMPROVEMENTS										
1. 6" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND GUTTER	SY	9115	\$45.80	\$417,467.00	\$47.00	\$428,405.00	\$48.00	\$437,520.00	\$48.10	\$438,431.50
2. 6" LIME STABILIZED SUBGRADE	SY	9589	\$3.45	\$33,082.05	\$3.80	\$36,438.20	\$3.10	\$29,725.90	\$4.35	\$41,712.15
3. HYDRATED LIME (45 #/SY)	TON	216	\$321.00	\$69,336.00	\$295.00	\$63,720.00	\$315.00	\$68,040.00	\$358.00	\$77,328.00
4. TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	15	\$2,500.00	\$37,500.00	\$3,100.00	\$46,500.00	\$2,700.00	\$40,500.00	\$2,640.00	\$39,600.00
5. TXDOT TYPE 3 COMBINATION PEDESTRIAN CURB RAMP	EA	3	\$2,500.00	\$7,500.00	\$3,100.00	\$9,300.00	\$2,700.00	\$8,100.00	\$2,860.00	\$8,580.0
6. PERMANENT TYPE III BARRICADE	EA	3	\$2,000.00	\$6,000.00	\$3,000.00	\$9,000.00	\$2,200.00	\$6,600.00	\$2,447.50	\$7,342.5
7. 5' SIDEWALK	SF	9711	\$6.85	\$66,520.35	\$6.50	\$63,121.50	\$6.15	\$59,722.65	\$7.55	\$73,318.0
8. 6' SIDEWALK	SF	7524	\$7.55	\$56,806.20	\$6.50	\$48,906.00	\$6.15	\$46,272.60	\$7.55	\$56,806.2
9. 8' TRAIL	SF	21644	\$8.90	\$192,631.60	\$7.50	\$162,330.00	\$7.75	\$167,741.00	\$8.75	\$189,385.00
10. SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	1	\$4,500.00	\$4,500.00	\$13,550.00	\$13,550.00	\$13,550.00	\$13,550.00	\$1,463.00	\$1,463.00
11. CROSSWALK STRIPING (PM(4)-20) AND SIGNAGE	LS	1	\$4,200.00	\$4,200.00	\$3,900.00	\$3,900.00	\$3,890.00	\$3,890.00	\$2,222.00	\$2,222.00
UBTOTAL BASE BID SECTION B - MASTER INFRASTRUCTURE PAVING IMPROVEN		•		\$895,543.20		\$885,170.70		\$881,662.15		\$936,188.40
ASE BID SECTION C - SUNRISE BLVD INFRASTRUCTURE PAVING IMPROVEMENTS 1. 8" 3,600 PSI REINFORCED CONCRETE PAVEMENT, INCLUDING CURB AND	SY	4628	\$58.45	\$270,506.60	\$60.00	\$277,680.00	\$62.25	\$288,093.00	\$62.30	\$288,324.40
GUTTER 2. 8" LIME STABILIZED SUBGRADE	SY	5001	\$3.75	\$18,753.75	\$4.20	\$21,004.20	\$3.25	\$16,253.25	\$4.35	\$21,754.35
3. HYDRATED LIME (53 #/SY)	TON	133		\$42,693.00	\$295.00	\$39,235.00	\$315.00	\$41,895.00	\$358.00	\$47,614.00
4. TXDOT TYPE 7 DIRECTIONAL PEDESTRIAN CURB RAMP	EA	4	\$2,500.00	\$10,000.00	\$3,100.00	\$12,400.00	\$2,700.00	\$10,800.00	\$2,640.00	\$10,560.00
5. CONCRETE STREET HEADER	LF	26	\$20.00	\$520.00	\$20.00	\$520.00	\$15.00	\$390.00	\$30.00	\$780.00
6. PERMANENT TYPE III BARRICADE	EA	1	\$1,655.00	\$1,655.00	\$1,500.00	\$1,500.00	\$1,650.00	\$1,650.00	\$3,294.50	\$3,294.50
7. 5' SIDEWALK	SF	6438	\$6.85	\$44,100.30	\$6.50	\$41,847.00	\$6.15	\$39,593.70	\$7.55	\$48,606.9
8. SAWCUT AND CONNECT TO EXISTING ROAD (FM 741)	LF	150	\$35.00	\$5,250.00	\$35.00	\$5,250.00	\$55.50	\$8,325.00	\$50.00	\$7,500.00
SAWCUT AND CONNECT TO EXISTING ROAD (SUNRISE BLVD)	LF	370	\$25.00	\$9,250.00	\$35.00	\$12,950.00	\$55.50	\$20,535.00	\$25.00	\$9,250.00
10. SIGNAGE (INCLUDING POLES AND SIGNAGE REMOVAL/MODIFICATIONS)	LS	1	\$4,600.00	\$4,600.00	\$2,405.00	\$2,405.00	\$2,405.00	\$2,405.00	\$2,095.50	\$2,095.50
11. REMOVE EXISTING DOUBLE YELLOW STRIPING & RPMS	LF	1150	\$3.25	\$3,737.50	\$2.00	\$2,300.00	\$2.00	\$2,300.00	\$1.25	\$1,437.50
12. 4" BROKEN WHITE STRIPING (PM(1)-20)	LF	2300	\$1.90	\$4,370.00	\$1.50	\$3,450.00	\$1.50	\$3,450.00	\$2.75	\$6,325.00
13. 4" BROKEN WHITE STRIPING (PM(3)-20)	LF	105	\$1.90	\$199.50	\$2.00	\$210.00	\$2.00	\$210.00	\$2.75	\$288.75
14. 8" SOLID WHITE STRIPING (PM(3)-20)	LF	98	\$5.00	\$490.00	\$3.00	\$294.00	\$3.00	\$294.00	\$4.95	\$485.10
15. 8" DOTTED WHITE STRIPING (PM(3)-20)	LF	100	\$4.00	\$400.00	\$3.50	\$350.00	\$3.50	\$350.00	\$4.95	\$495.00
16. TRAFFIC CONTROL JBTOTAL BASE BID SECTION C - SUNRISE BLVD INFRASTRUCTURE PAVING IMPR	LS OVEMENTS	1	\$6,500.00	\$6,500.00 \$423,025.65	\$12,500.00_	\$12,500.00 \$433,895.20	\$13,300.00	\$13,300.00 \$449,843.95	\$6,100.00	\$6,100.00 \$454,911.00
ASE BID SECTION D - MISCELLANEOUS ITEMS			4				***	*** *		
1. PERFORMANCE & PAYMENT BOND - 100%	LS	1	\$33,500.00	\$33,500.00	\$40,000.00	\$40,000.00	\$32,175.00	\$32,175.00	\$27,500.00	\$27,500.00
2. MAINTENANCE BOND - 2YR, 100%	LS	1	\$11,500.00	\$11,500.00	\$500.00_	\$500.00	\$500.00	\$500.00	\$12,500.00	\$12,500.00
SUBTOTAL BASE BID SECTION D - MISCELLANEOUS ITEMS				\$45,000.00		\$40,500.00		\$32,675.00		\$40,0000000

LJA Engineering, Inc.

BID TABULATION FOR:

LJA JOB NO.

CONSTRUCTION OF THE PAVING IMPROVEMENTS FOR EASTLAND, PHASE 5

BID OPENING DATE: JUN
BID OPENING LOCATION: LIA
TABULATION BY: S.BU
TABULATION DATE: JUN

KAUFMAN COUNTY MUNICIPAL UTILITY DISTRICT NO. 12 CITY OF CRANDALL E.T.J., KAUFMAN COUNTY, TEXAS JUNE 26, 2025 LIA ENGINEERING, INC. S.BOOTH JUNE 26, 2025 NT600-0003D

				5) GTI 6) MARIO SINACOLA & SONS EXCAVATING, INC.		7) HARPER BROTHER CONSTRUCTION		8) TISEO PAVING			
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL	UNIT COST	TOTAL
ALTERNAT	TE I ITEMS ALTERNATE I ITEMS										
1. 8	8' CURLEX (PHASE 5 RESIDENTIAL PAVING)	LF	27513	\$2.00	\$55,026.00	\$1.60		\$1.15	\$31,639.95	\$1.65	\$45,396.45
	8' CURLEX (PHASE 5 MASTER PAVING)	LF	4127	\$2.00	\$8,254.00	\$1.60		\$1.15	\$4,746.05	\$1.65	\$6,809.55
	8' CURLEX (PHASE 5 SUNRISE BLVD PAVING)	LF	2730	\$2.00	\$5,460.00	\$1.60		\$1.15	\$3,139.50	\$1.65	\$4,504.50
SUBTOTA	IL ALTERNATE I ITEMS ALTERNATE I ITEMS				\$68,740.00		\$54,992.00		\$39,525.50		\$56,710.50
ALTERNAT	TE II ITEMS ALTERNATE II ITEMS										
	PAVEMENT REPAIR: SAWCUT, REMOVE AND REPLACE EXISTING 8"	SY	160	\$235.00	\$37,600.00	\$125.00	\$20,000.00	\$52.00	\$8,320.00	\$165.00	\$26,400.00
2. F	PAVEMENT AT SUNRISE BLVD (HAUL ROUTE CROSSING) PAVEMENT REPAIR: SAWCUT, REMOVE AND REPLACE EXISTING 6" PAVEMENT AT CHESTNUT ORCHARD ROAD (HAUL ROUTE CROSSING)	SY	222	\$200.00	\$44,400.00	\$120.00	\$26,640.00	\$85.00	\$18,870.00	\$150.00	\$33,300.00
3. 9	SAWCUT, REMOVE AND REPLACE EXISTING S' SIDWALK AT SUNRISE BLVD (HAUL ROUTE CROSSING)	LF	40	\$35.00	\$1,400.00	\$45.00	\$1,800.00	\$132.00	\$5,280.00	\$100.00	\$4,000.00
4. 9	SAWCUT, REMOVE AND REPLACE EXISTING 5' SIDWALK AT CHESTNUT ORCHARD ROAD (HAUL ROUTE CROSSING)	LF	80	\$35.00	\$2,800.00	\$45.00	\$3,600.00	\$132.00	\$10,560.00	\$100.00	\$8,000.00
	L ALTERNATE II ITEMS ALTERNATE II ITEMS			-	\$86,200.00		\$52,040.00		\$43,030.00	_	\$71,700.00
1. T	TE III ITEMS ALTERNATE III ITEMS TRAIL LOW-WATER CROSSING (REFER TO THE DRAINAGE DETAILS) I. ALTERNATE III ITEMS ALTERNATE III ITEMS	EA	2	\$2,500.00	\$5,000.00 \$5,000.00	\$7,500.00	\$15,000.00 \$15,000.00	\$7,670.00	\$15,340.00 \$15,340.00	\$9,900.00_	\$19,800.00 \$19,800.00
BID SUMN							¥15,000.00		V13,5 10.00		¥15,000.00
BASE BID S	SECTION A - RESIDENTIAL INFRASTRUCTURE PAVING IMPROVEMENTS				\$2,882,564.75	*	\$2,985,900.50		\$2,988,765.05		\$3,085,497.55
BASE BID S	SECTION B - MASTER INFRASTRUCTURE PAVING IMPROVEMENTS				\$895,543.20		\$885,170.70		\$881,662.15		\$936,188.40
BASE BID S	SECTION C - SUNRISE BLVD INFRASTRUCTURE PAVING IMPROVEMENTS				\$423,025.65		\$433,895.20		\$449,843.95		\$454,911.00
BASE BID S	SECTION D - MISCELLANEOUS ITEMS				\$45,000.00		\$40,500.00		\$32,675.00		\$40,000.00
TOTAL AN	MOUNT BASE BID				\$4,246,133.60		\$4,345,466.40		\$4,352,946.15		\$4,516,596.95
ALTERNAT	TE ITEMS				-						
ALTERNAT					\$68,740.00		\$54,992.00		\$39,525.50		\$56,710.50
ALTERNAT					\$86,200.00		\$52,040.00		\$43,030.00		\$71,700.00
ALTERNAT	TE III ITEMS				\$5,000.00		\$15,000.00		\$15,340.00		\$19,800.00